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This information is on the note page I provided you in the packet.



Before we can do that, let's make sure everyone's editor is set up the same.

*Press the STAT button on your calculator (it is to the right of the ALPHA key)

, that will take  you to

it should respond with Done.

Next we will enter data into our lists....

 something like the picture at the left.  It may or may not
have numbers in the lists.

Before we put numbers in...let's get any old numbers out.

because you will use this later to clear your lists.

use the up arrow until the cursor is on the L1

(7,8),  (2,4),  (4,6),  (2,2),  (5,7)

Please enter the DOMAIN into L1   and the RANGE into L2


